Introduction of Multiplication

Fill in the blanks.

1. //
T
Each bunch has 5 flowers.

In all there are [_]+ ﬁzm flowers.
CrDtimesC]is[:].[ ]x[ ]=[ ]

here are 2 bunches of flower.

2 (1

Each packet has 20 toffees.
Inallthereare [ |+ J+( ) +( ]:[

Or C]timesC] isC] L]
\_

here are 4 packets of toffees.

}
-

3. (4
Each group has 5 marbles.

Inallthereare [  ]+( ]+ )+ J+[ ) =]
Cr[:]timesC]isC].[ ]x[

here are 5 groups of marbles.

1+1+1+1+1+1+1=[:]x1
2+2+2+2+2+2+2+2=C]x2
3+3+3+3+3+3=6x[_ |




